
 

 
 
 
 

-SCHOOL OF COMPETITIVE EXAMS 
 

GROUP – I MAINS ORIGINAL (2013) 
GENERAL STUDIES PAPER – I 

 
 

gphpT – m 

Section – a 
(kpfr;rpwpa mstpy; tpilaspf;Fk; tpdh tif) 

 
Fwpg;G: i) midj;J tpdhf;fSf;Fk; tpilasp. xt;nthd;wpw;Fk; 30 nrhw;fSf;F  

kpfhky; tpilaspf;fTk; 

 
Note: Answer all the question not exceeding 30 words each 
 
 ii) xt;nthU tpdhtpw;Fk; %d;W kjpg;ngz; 

      Each question carries three marks 
 
 iii) nfhLf;fg;gl;Ls;s Kg;ge;ije;J tpdhf;fspy; vitNaDk; Kg;gJ  

tpdhf;fSf;F Fiwe;jgl;rk; xU tpdhit xt;nthU gFjpapypUe;J    
Njh;e;njLj;J tpilaspf;fTk; 

       Answer any thirty questions out of thirty five questions attending atleast  
      One question from each Unit  

 
UNIT- I 

 
(MODERN HISTORY OF INDIA AND CULTURE) 

 
1. What were the principles advocated by Khudai Khidmatgar Movement? 

Fil fpl;khl;fh; ,af;fj;jpdhy; gug;gg;gl;l Fwpf;Nfhs;fs; ahit? 
 

2. Who was called as the 'Patriot Saint of India'? Why? 
‘Njrhgpkhd re;epahrp’ vd;wiof;fg;gl;lth; ahh;? Vd;? 
 

3. What are the important provisions of the Indian Press act of 1910? 
1910Mk; Mz;L ,e;jpa gj;jphpf;ifr; rl;lj;jpd; Kf;fpa $Wfs; ahit?  
 

4. Why the 1980 General election to the parliament was not held in Assam except in 
two constituencies? 
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,uz;L njhFjpfs; jtpu kw;w mrhk; khepy ghuhSkd;w njhFjpfspy; 1980-k; 
Mz;L ghuhSkd;w Njh;jy; Vd; eilg;ngwtpy;iy? 
 

5. Write on the contributions of the Sangeet Natak Academy to Indian culture. 
,e;jpa gz;ghl;bw;F rq;fPj ehlf mfhlkpapd; gq;fspg;gpidg; gw;wp vOJf.  
 

6. Illustrate the significance of the National Literacy Mission. 
Njrpa vOj;jwpT gzpj; jpl;lj;jpd; Kf;fpaj;Jtj;ij tpsf;Ff. 
 

7. Explain the call of Rajiv Gandhi on 'Build India Movement'. 
‘,e;jpahit cUthf;FNthk;’ ,af;fj;jpw;F uh[Pt; fhe;jpapd; miog;gpid 
tpsf;Ff. 
 

8. Narrate the organisational structure of Bharatiya Jana Sangh. 
ghujpa [drq;f fl;rpapd; epWtd mikg;G Fwpj;J vOJf.  
 

9. When was the symbol two yoked bullocks of the Indian National Congress frozen? 
,e;jpa Njrpa fhq;fpu]pd; ,ul;il fhis khl;L rpd;dk; vg;nghOJ 
Klf;fg;gl;lJ? 
 

10. Mention the importance of Avadi Congress of 1955. 
1955-k; Mz;bd; Mtb fhq;fpu]; khehl;bd; Kf;fpaj;Jtj;ijf; Fwpg;gpLf. 
 

11. Give an account of the various committees of Lok Sabha. 
Nyhf; rghtpd; gy;NtW FOf;fs; Fwpj;J njhFj;J vOJf. 
 

12. What led to the nationalisation of Private Insurance Companies and the creation of 
LIC? 
jdpahh; fhg;gPL epWtdq;fs; Njrpakakhf;fg;gl;L LIC cUthdjw;fhd 
fhuzk; ahJ? 

 
UNIT II 

 
(GENERAL APTITUDE MENTAL ABILITY AND INFORMATION 

TECHNOLOGY) 
 

13. The traffic signal lights at three different road crossings change after every 36, 48, 64 
seconds respectively. If they all change simultaneously at 7.30 hours then at what 
time will they again change simultaneously? 
%d;W NtWgl;l njU Kifspy; cs;s Nghf;Ftuj;J rpf;dy; tpsf;Ffs; 
KiwNa 36> 48> 64 tpdhbfspy; rpf;dy; khWfpd;wd. ,J %d;Wk; 7 kzp 30- 
epkplj;jpy; xd;W Nghy khWk; vdpy; kWKiw ve;j kzpNeuj;jpy; %d;Wk; 
xd;W Nghy khWk; vd fzf;fpLf.  

 

14. If the volume of a right circular cone of base radius 4 cm is 16  cm3, then find the 
slant height of the cone. 
mbg;gf;f tl;lj;jpd; Muk; 4 nr.kP nfhz;l xU tl;l Neh;$k;gpd; fd msT 
16π  f.nr.kP. vdpy; mjd; rha;Tauk; fhz;f. 
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15. Three fair dice are rolled once. Find the probability to get the sum of the   face 

values as 17. 
xOq;fhf mikag; ngw;w %d;W gfilfs; xU Kiw cUl;lg;gLfpwJ. 
gfilfspd; Kfkjpg;gpd; $Ljy; 17 Mf ,Uf;f epfo;jfT ahJ? 
 

16. The interest on a certain principal amount at 10% per annum compounded half 
yearly for 6 months is Rs. 2,100. Find the amount invested. 
Mz;bw;F 10% tPjk; miuahz;by; $l;L tl;b fzf;fPly; %yk; Fwpg;gpl;lj; 
njhiff;F 6 khjq;fSf;Fg; ngwg;gl;l tl;bj; njhif &. 2>100 vdpy;> KjyPL 
nra;ag;gl;lj; njhifiaf; fhz;f. 
 

17. From the following table draw a histogram. 
 

Wages in Rs. No. of workers 
0-10 5 
10-20 8 
20-30 10 
30-40 14 
40-50 11 
50-60 6 
60-70 3 

 
fPo;fhZk; tptuq;fSf;F xU guty; nrt;tf tiuglk; jahhpf;fTk;. 

 
Cjpak; &ghapy; Ntiyahl;fspd; vz;zpf;if 

0 – 10 
10 – 20 
20 – 30 
30 – 40 
40 – 50 
50 – 60 
60 - 70 

5 
8 
10 
14 
11 
6 
3 

 
18. State the utilities of 'Ogives'. 

‘xift;’fspd; gad;ghLfisf; $Wf. 
 

19. What is meant by secondary data? 
,uz;lhk; epiy tptuq;fs; vd;why; vd;d vd;gij tpthp. 
 

20. Distinguish between diagrams and graphs. 
tpsf;fg;glq;fSf;Fk; tiuglq;fSf;Fk; ,ilNa cs;s tpj;jpahrq;fs; 
ahit? 
 

21. What is cyber space? How does the World Wide Web differ from cyber space? 
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irgh; ntsp vd;why; vd;d? ,J cyfshtpa gpd;dypypUe;J vt;thW 
NtWgLfpwJ? 

 
22. What is meant by "Recursion"? 

“jd;diog;G” vd;gjd; nghUs; ahJ? 
 

UNIT III 
 

(ROLE AND IMPACT OF SCIENCE AND TECHNOLOGY IN THE DEVELOPMENT 
OF TAMILNADU) 

 
23. How do 'touch screens' work? 

‘njhL jpiufs;’ vt;thW nray;gLfpd;wd? 
 
 

24. Why do people sweat more before a heavy rain? 
fd kiof;F Kd; kf;fSf;F mjpf tpah;it Vw;gLtJ Vd;? 
 

25. If you are given a thin wire and a metre scale, how will you estimate the diameter of 
the wire? 
cd;dplk; xU nky;ypa fk;gpAk;> msTNfhSk; nfhLf;fg;gl;Ls;sJ vdpy;> 
vt;thW fk;gpapd; tpl;lj;ij mstpLtha;? 
 

26. What are the three major constituents of LPG gas? 
LPG thAtpYs;s %d;W Kjd;ik gFjpg; nghUl;fs; ahit? 
 

27. How is soap differs from detergent from chemical compound point of view? 
Ntjpr; Nrh;kk; Nfhzj;jpy; Nrhg;ghdJ nraw;if mOf;F ePf;fpapypUe;J 
vt;thW NtWghLfpwJ? 
 

28. Why does dry cell become dead when it has not been used for a long time? 
cgNahfg;gLj;jglhky; ntF ehl;fshf ,Uf;Fk; cyh; kpd;fyd; nraypoe;J 
tpLfpwJ? Vd;? 
 

29. What is a dolipore septum? 
lhypg;Nghh; FWf;Fr;Rth; vd;why; vd;d? 
 

30. What is Lathyrism? 
yjphprk; vd;why; vd;d? 
 

31. If the base sequence in a polynucleotide chain is 
G—C—A—A—T—G—C—A 
What will be the sequence of bases on the complementary chain and why? 
fPNo nfhLf;fg;gl;Ls;s ghypepA+fpypNahilL rq;fpypapy; cs;s fhu njhlUf;F  

G – C – A – A - T – G – C - A 
vjpNu G+h;j;jp nra;Ak; njhlhpy; cs;s fhuq;fs; ahit? Vd;? 

 
32. What is Eutrophication? 
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“ALNuhgpNf~d;” vd;why; vd;d? 
 

33. Define Eugenics and who coined this term? 
A+n[dpf;]; tiuaW. ,r;nrhy;iy fz;Lgpbj;jth; ahh;?  
 

34. What are Baro receptors? 
ghNu czh;thq;fpfs; vd;why; vd;d? 
 

35. Write the use of smart cards. 
Smart card – fspd; gad;fis vOJf. 

 
 
 

gphpT – M 

Section – B 
(RUf;fkhf tpilaspf;Fk; tpdhtif) 

(Brief Answer Type) 
 
Fwpg;G:   

Note 
 

i) xt;nthU tpdhtpw;Fk; 120 nrhw;fSf;F kpfhky; tpilaspf;fTk; 

Answer not exceeding 120 words 
 

ii) xt;nthU tpdhtpw;Fk; vl;L kjpg;ngz;fs; 

Each question carries eight marks 
 

iii) nfhLf;fg;gl;Ls;s gjpndl;L tpdhf;fspy; vitNaDk; gjpide;J tpdhf;fSf;F 
Fiwe;jgl;rk; xU tpdhit xt;nthU gFjpapypUe;J Njh;e;njLj;J tpilaspf;fTk; 

Answer any fifteen questions out of eighteen questions attending atleast One question from 
each Unit. 

  
 

UNIT I  
 

36. Evaluate the role of Press in fostering National consciousness during 19th century. 
19-k; E}w;whz;by; Njrpa czh;it Cf;Ftpg;gjpy; gj;jphpf;iffspd; gq;fpid 
kjpg;gpLf. 
 

37. What was the political set up  aimed by the British Government for India after the 
World War II? 
,uz;lhk; cyfg; NghUf;F gpwF vg;gbg;gl;l muR ,e;jpahtpy; mika 
Ntz;Lnkd Mq;fpNya muR tpUk;gpaJ? 
 

38. Write on Rammanohar Lohia's view on socialism. 
Nrh]payp]k; gw;wpa uhk; kNdhfh; Nyh`pahtpd; fUj;jpid vOJf.  

 
39. Bring out the significance of Mountbatten Plan. 
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kTz;l;Ngl;ld; jpl;lj;jpd; rpwg;gpid ntspf;nfhzh;f. 
 

40. Write on the causes and consequences of the Akali Dal Agitation. 
mfhypjs Nghuhl;lj;jpd; fhuzq;fs; kw;Wk; tpisTfs; Fwpj;J vOJf.  
 

41. Analyse the services of the Centre for Cultural Resources and Training (CCRT). 
fyhr;rhu tsk; kw;Wk; gapw;rp ikaj;jpd; Nritfis gFg;gha;T nra;f. 

 
UNIT II 

 
42. A milk can contains 10 litres of milk. 3 litres of milk is taken out of it and 3 litres of 

water is poured into it. Again 3 litres of mixture is taken out of the milk can and 3 
litres of water is poured into it. Find the percentage of milk and water in the milk 
can. 
xU ghj;jpuj;jpy; 10 ypl;lh; msT ghy; cs;sJ. mjpypUe;J xUth; 3 ypl;lh; 
ghiy vLj;J tpl;L> 3 ypl;lh; jz;zPiu Cw;Wfpwhh;. kw;nwhUth; 
mf;fyitapypUe;J 3 ypl;lh; vLj;J tpl;L> 3 ypl;lh; jz;zPh; Cw;Wfpwhh;. 
,g;NghJ mg;ghj;jpuj;jpy; vj;jid tpOf;fhL>ghy; kw;Wk; jz;zPh; cs;sJ? 

 

43. 2 men and 3 women can do a work in 10 days. 3 men and 2 women can do the same 
work in 8 days, In how many days 2 men and 1 woman can do the same work? 
2 Mz;fSk; 3 ngz;fSk; xU Ntiyia 10 ehl;fspy; nra;a ,aYk;. 3 
Mz;fSk; 2 ngz;fSk; mNj Ntiyia 8 ehl;fspy; nra;a ,aYk; 2 
Mz;fSk; 1 ngz;Zk; mNj Ntiyia vj;jid ehl;fspy; nra;a ,aYk;? 
 
 
 
 
 

44. The marks obtained by 50 students are given below : 
 
31,      13,      46,      31,      30,      45,      38,      42,      30,    9, 
30,      30,      46,      36,       2,       41,      44,      18,      29,    63, 
44,      30,      19,       5,       44,      15,       7,       25,      12,    30, 
6,       22,      24,      37,      15,       6,       39,      32,      21,     20, 
42,      31,      19,      14,      23,      28,      17,      53,      22,    21  

 

Construct a grouped frequency distribution. 
50 khzth;fspd; kjpg;ngz;fs; fPNo nfhLf;fg;gl;Ls;sJ.  

31,  13,  46,  31,  30,  45,  38,  42,  30,  9 
30,  30,  46,  36,    2,  41,  44,  18,  29,  63 
44,  30,  19,   5,  44,  15,   7,  25,  12,  30 
  6,  22,  24,   7,  15,   6,  39,  32,  21,  20 
42,  31,  19,  14,  23,  28,  17,  53,  22,  21 
njhFg;G epfo;ntz; gutiy eph;khdp. 

45. Draw a pie diagram for the following data : 
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Agriculture       12.9% 

Irrigation         12.5% 

Energy             27.2% 

Industry           15.4% 

Transport         15.9% 

Social service    16.1%. 
fPo;fz;l Gs;sp tptuj;jpw;F tl;l tpsf;fg;glk; tiuf: 

Ntshz;ik  12.9% 
ePh;g;ghrdk;   12.5% 
rf;jp    27.2% 
njhopw;rhiy  15.4%  

Nghf;Ftuj;J  15.9% 
r%f Nrit  16.1% 

46. Differentiate Bridge, Router and Repeater in communication networks. 
jfty;njhlh;gpy; gad;gLj;jg;gLk; ghyk;> kPl;lbg;ghd; kw;Wk; tYT+l;bfs; 
Mfpatw;iw NtWgLj;Jf. 

 
UNIT III 

 
47. What are the measures taken by our Government to tackle cyber crimes? 

ekJ muR tiy topf; Fw;wq;fis fl;Lg;gLj;j vLj;Js;s eltbf;iffs; 
ahit? 
 

48. What are the effects of nuclear winter? 
mZf;fU Fsph; fhyj;jpd; tpisTfs; ahit? 
 

49. Detergents are superior to soaps in their cleaning action – Explain. 
Rj;jk; nra;Ak; jpwdpy; nraw;if mOf;F ePf;fpfs; Nrhg;Gf;fis tpl rpwe;jJ. 
tpthp. 
 

50. (a) How is steel different from Iron? Four points. 
 

(b) Name two advantages of converting iron into steel. 
 

(c) How can the above conversion be done? 
(m). ];BYf;Fk; ,Uk;Gf;Fk; cs;s NtWghLfs; (vitNaDk; ehd;F kl;Lk;) 
vOJf. 
(M) ,Uk;igf; fhl;bYk;> ];By; ve;j tifapy; (vitNaDk; ,uz;L) rpwe;jJ 
vd;gij vOJf. 
(,) Nkw;Fwpg;gplg;gl;Ls;s khw;wk; vt;thW eilngWk;? 
 

51. What do you understand by RQ? How does it vary on the basis of food material 
involved? 
RQ vd;why; vd;d? mJ vt;thW xt;nthU czT nghUSf;Fk; NtWgLfpwJ? 
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52. Explain X-linked inheritance in man with special reference to Hemophilia and 
Colour blindness. 
kdpjdpy; P̀Nkhgpypah kw;Wk; epwFUL Mfpatw;iw cjhuzkhf nfhz;L X-
,izT ghuk;ghpaj;ijg; gw;wp tpsf;F. 
 

53. What is virtual reality? What are its applications? 
Virtual reality vd;why; vd;d? mjd; gad;ghLfs; ahit? 

 
gphpT - , 

Section – C 
(tphpthf tpilaspf;Fk; tpdh tif) 

(Detailed Answer type) 
 
Fwpg;G 

Note 
 

i) fPo;fz;ltw;Ws; VNjDk; MW tpdhf;fSf;F kl;Lk; tpil jUf. xt;nthU tpdhtpw;Fk; 250 
nrhw;fSf;F kpfhky; tpilaspf;fTk; 
Answer six of the following questions not exceeding 250words each 
 

ii) xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs; 
Each question carries 15 marks 
 

iii) nfhLf;fg;gl;Ls;s xd;gJ tpdhf;fspy; vitNaDk; MW tpdhf;fSf;F Fiwe;jgl;rk; xU 
tpdhit xt;nthU gFjpapypUe;J Njh;e;njLj;J tpilaspf;fTk;. 
Answer any six questions out of nine questions attending atleast One question from each 
Unit. 

 
 

UNIT - I 
 

54. Analyse the impact of British rule on Indian Economy. 
,e;jpag; nghUshjhuj;jpy; Mq;fpy Ml;rpapd; jhf;fj;ij Muha;f. 
 

55. Describe the economic policy of the Janata Government. 
[djh murpd; nghUshjhuf; nfhs;ifapid tpthp. 
 

56. Give an account of the role played by women of Tamilnadu in the freedom struggle. 
tpLjiyg; Nghuhl;lj;jpy; jkpo;ehl;Lg; ngz;fspd; gq;fspg;gpidj; njhFj;J 
vOJf.  

 

UNIT II 
 

57. (a)A sum of Rs, 2,000 is deposited in a bank which pays compound interest for the 
first year at r % per annum and for the second year at 5% per annum. If the maturity 
amount at the end of second year is Rs. 2,163, find the value of r.     
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(b) Find the smallest 5 digit number exactly divisible by 16,24,36 and 54.                         
(m) tq;fp xd;wpy; &. 2000 Nrkpg;G njhifahf nrYj;jg;gLfpwJ. $l;L tl;b 

mspf;Fk; tq;fpahdJ Kjy; Mz;bw;F r% tl;bAk;> ,uz;lhk; Mz;bw;F 5% 
tl;bAk; mspf;fpwJ. ,uz;lhk; Mz;L Kbtpy; ngwg;gl;l Kjph;Tj; njhif &. 

2.163 vdpy; r-,d; kjpg;gpid fhz;f. 
 

(M) 16> 24> 36 kw;Wk; 54 Mfpa vz;fshy; kpfr; rhpahf tFgLk;. kpfr;rpwpa 
Ie;J ,yf;f vz;izf; fhz;f. 
 

58. How do you define the IP addresses of Internet and Email? Explain.  
,izak; kw;Wk; kpd; mQ;rYf;fhd IP Kfthpia vt;thW tiuaWg;gha;? 
tpsf;Ff. 

 
UNIT III 

 

59. "Solar energy has promise, but it still poses challenges" - Comment on this 
statement. 
“#hpa Mw;wy;> xU tug;gpurhjk;> vdpDk; vjph;nfhs;s Ntz;ba rthy;fs; 

mjd; Kd; epw;fpd;wd”. ,e;j $w;wpidg; gw;wpa fUj;jpid vOJf. 

 
60. (a) Write abundance of nitrogen in air  

(i) by weight 
(ii)  by volume. 

 
 
 
 

(b) Hint about nitrogen on the following : 
(i)    colour 
(ii)   taste 
(iii) density relative to air. 

 

(c) Explain how does Lightening affect atmospheric nitrogen. 
(m) tspkz;lyj;jpy; iel;u[d; vt;tsT cs;sJ? 

i. vil  
ii. fd msT  

 (M) iel;u[dpd; fPo;fz;ltw;wpid vOJf: 

  i. epwk;  
  ii. Rit  
  iii. fhw;iw tpl mlh;T 

(,) kpd;dy; vt;thW tsp kz;ly iel;u[id ghjpf;fpwJ vd;gij tpsf;Ff. 
 

61. Enumerate the angiosperm  like  features  of Gnetum. Give reasons for   and against 
considering this genus as ancestral to angiosperms. 
ePl;lj;jpw;Fk;> G+f;Fk; jhtuj;jpw;Fk; cs;s xj;j mk;rq;fis tthpirg;gLj;Jf 
,e;j jhtuk; G+f;Fk; jhtuj;jpw;F %yjhukhf ,Ue;jpUf;Fk; vd;gjw;F xj;j 
kw;Wk; vjpuhd fhuzq;fis nfhLf;fTk;. 
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62. Give a detailed account on gene therapy. 
[Pd; njugpia gw;wp tphpthf njhFj;J vOJf? 
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